**~** j .



# **SUPPLEMENT**

TO THE

# NEW ZEALAND GAZETTE

OF

THURSDAY, 29 MARCH 1984

Published by Authority

WELLINGTON: MONDAY, 2 APRIL 1984

Import Licence Tendering—Call for Tenders: Round 14

PURSUANT to the Import Control Regulations 1973 (S.R. 1980/246), the Secretary of Trade and Industry, acting under delegated authority is calling tenders for the goods specified below. Tenders close on 30 April 1984 at 5 p.m. and must be received by the Registrar of Tenders by then to be valid. Tenderers are advised that the item codes referred to relate to those shown in the Import Licensing Schedule 1984. Instructions for tenderers and the general terms and conditions which apply to the submission and acceptance of tenders are set out in the Guide to Licence Tendering dated October 1982. Tenders should be addressed to the Registrar of Tenders, P.O. Box 3146, Wellington, or be delivered by hand to the First Floor of the Bowen State Building, Wellington. Tenders for Round 14 should reach the Registrar no later than 5 p.m. on 30 April 1984.

- 1. Tenderers should refer to the Customs Tariff and the Import Licensing Schedule for a definite description of the goods included in the list above.
- 2. Tenderers should be conversant with the various statutes and regulations which importing enterprises are obliged to comply with, such as the Food and Drug Regulations 1973, Safety Standards, Duties and Sales Tax, etc., where relevant.
- 3. Tenderers are reminded to use a separate tender form for each tender number. Bids may be sent in one envelope. The envelope should be marked Import Licence Tender.

The following tender was originally advertised in Round 12 but is re-tendered here because of the increase in allocation.

CANNING IN	DUSTRY	DEVELOPMENT	PLAN
------------	--------	-------------	------

Tender No.	Item Code	Tariff Items	Goods: Brief Description	2nd Allocation \$	No. of Unit Size \$	No. of Units a Tenderer May Bid For
1756	20.040	20.06.078.01C 20.06.078.11L 20.06.078.31E to 20.06.078.61G	Apples, apricots, fruit salad, peaches, pears plums	1,100,000	22 × 50,000	3

The following tender was originally advertised in Round 12 but is re-tendered here to exclude rubber sheet soling.

#### RUBBER GOODS DEVELOPMENT PLAN

Tender No.	Item Code	Tariff Items	Goods: Brief Description	Rubber Goods 1st Allocation	No. of Units	Licence Unit Size \$	No. of Units a Tenderer May Bid For
1757	Ex 40.022	Ex 40.08.038	Plates, sheets, strips, etc., of vulcanised rubber excluding rubber sheet soling	110,000	11	× 10,000	2

#### FOOTWEAR INDUSTRY PLAN: SECOND ALLOCATION

This allocation incorporates amendments to the statistical keys under Chapter 64 of the New Zealand Customs Tariff (1983 Reprint) effective as of 1 April 1984.

#### Finished Footwear of Tariff Chapter 64

			Finished Footwear of Tariff Chapter 64				
Tender No.	Item Code	Tariff Items	Goods: Brief Description	Footwear 2nd Allocation (Pairs)	No. of Units	Licence Unit Size (Pairs)	No. of Units a Tenderer May Bid For
1758	Ex 64.005	64.02.018.12F to 64.02.018.18E 64.02.018.49E 64.02.019.12B to	Footwear exceeding children's size 9½ but not exceeding size 1½ (excluding gumboots, thongs and goods of Item Code 64.000), viz: having leather or composition leather uppers	2,000	10 ×	200	1
		64.02.019.18A	leather of composition leather uppers				
		64.02.019.49A 64.03.011.18D					
		64.03.012.18L 64.04.011.18H					
1759	Ex 64.005	64.04.012.18D 64.01.031.29C	Footweer exceeding children's size 01/2 but not	6 200	21 \	200	2
17.37	LX 04.003	64.01.032.29K Ex 64.02.011.09A	Footwear exceeding children's size 9½ but not exceeding size 1½ (excluding gumboots, thongs and goods of Item Code 64.000), viz; having	6,300	21 ×	300	2
		Ex 64.02.012.09H	non-leather uppers				
		64.02.018.61D to 64.02.018.69K					
		64.02.018.99A					
		64.02.019.61L to 64.02.019.69F					
		64.02.019.69F					
		64.03.011.39G 64.03.012.39C					
		64.04.011.39L					
1760	Ex 64.010	64.04.012.39G Ex 64.02.023.02B to	Other footwear of Tariff Chapter 64, viz: Men's	( 250	36 \	350	•
1700	LX 04.010	Ex 64.02.023.09K	and boys' footwear exceeding size 11/2 (exclud-	6,250	25 ×	250	2
		Ex 64.02.023.22G Ex 64.02.023.23E	ing gumboots, thongs, and goods of Item Code 64.000) having leather or composition leather				
		64.02.023.25A to 64.02.023.29D	uppers	•			
		Ex 64.02.029.02L to					
		Ex 64.02.029.09H Ex 64.02.029.22E					
		Ex 64.02.029.23C					
		64.02.029.25K to 64.02.029.29B					
		Ex 64.03.018.12K					
		Ex 64.03.018.18J 64.03.018.21J					
		64.03.018.29D					
		Ex 64.03.019.12F Ex 64.03.019.18E					
		64.03.019.21E					
		64.03.019.29L Ex 64.04.018.02F					
		Ex 64.04.018.08E	•				
		Ex 64.04.018.21B Ex 64.04.018.29H					
		Ex 64.04.019.02B					
		Ex 64.04.019.08A Ex 64.04.019.21J					
		Ex 64.04.019.29D					

Tender No.	Item Code	Tariff Items	Goods: Brief Description	Footwear 2nd Allocation (Pairs)	No. of Unit Units Size (Pairs)	No. of Units a Tenderer May Bid For
1761	Ex 64.010	Ex 64.02.023.02B to Ex 64.02.023.29K Ex 64.02.023.22G Ex 64.02.023.23E 64.02.023.23E 64.02.023.29D Ex 64.02.029.02L to Ex 64.02.029.02L to Ex 64.02.029.22E Ex 64.02.029.23C 64.02.029.25K to 64.02.029.29B Ex 64.03.018.12K Ex 64.03.018.12J 64.03.018.21J 64.03.018.21J 64.03.019.21E Ex 64.03.019.21E 64.03.019.21E 64.03.019.21E Ex 64.03.019.21E Ex 64.04.018.02F Ex 64.04.018.02F Ex 64.04.018.02B Ex 64.04.018.29B Ex 64.04.018.29B Ex 64.04.018.29B Ex 64.04.019.02B Ex 64.04.019.02B Ex 64.04.019.08A	Other footwear of Tariff Chapter 64, viz: Men's and boys' footwear exceeding size 1½ (excluding gumboots, thongs, and goods of Item Code 64.000) having leather or composition leather uppers		20 × 1,000	2
1762	Ex 64.010	Ex 64.04.019.29D Ex 64.04.019.29D Ex 64.01.037.12G Ex 64.01.037.31C 64.01.037.39J Ex 64.01.039.12K Ex 64.01.039.18J 64.01.039.31F	Other footwear of Tariff Chapter 64, viz: Men's and boys' footwear exceeding size 1½ (excluding gumboots, thongs, and goods of Item Code 64.000) having non-leather uppers		16 × 250	2
		64.01.039.39A Ex 64.02.021.02K to Ex 64.02.021.29A Ex 64.02.022.02F to Ex 64.02.023.51L to Ex 64.02.023.59F Ex 64.02.023.71E Ex 64.02.023.73A 64.02.023.75H to			·	·
		64.02.023.79L Ex 64.02.029.51J to Ex 64.02.029.59D Ex 64.02.029.71C Ex 64.02.029.73K 64.02.029.75F to 64.02.029.79J Ex 64.03.018.51L Ex 64.03.018.59F 64.03.018.61H				
		64.03.018.69C Ex 64.03.019.51G Ex 64.03.019.59B 64.03.019.69K Ex 64.04.018.41G Ex 64.04.018.49B Ex 64.04.018.61A Ex 64.04.018.69G Ex 64.04.019.41C Ex 64.04.019.49J				
1763	Ex 64.010	Ex 64.04.019.61H Ex 64.04.019.69C Ex 64.01.037.12G Ex 64.01.037.31C 64.01.037.31C 64.01.037.39J Ex 64.01.039.12K	Other footwear of Tariff Chapter 64, viz. Men's and boys' footwear exceeding size 1½ (excluding gumboots, thongs and goods of Item Code 64.000) having non-leather uppers	,	15 × 1,000	2
		Ex 64.01.039.18J 64.01.039.31F 64.01.039.39A Ex 64.02.021.02K to Ex 64.02.021.29A Ex 64.02.022.02F to Ex 64.02.022.29H Ex 64.02.023.51L to				
		Ex 64.02.023.59F Ex 64.02.023.71E Ex 64.02.023.73A 64.02.023.75H to 64.02.023.79L				

Tender No.	Item Code	Tariff Items	Goods: Brief Description	Footwear 2nd Allocation (Pairs)	No. of Units	Licence Unit Size (Pairs)	No. of Units a Tenderer May Bid For
		Ex 64.02.029.51J to Ex 64.02.029.59D					
		Ex 64.02.029.71C Ex 64.02.029.73K					
		64.02.029.75F to 64.02.029.79J Ex 64.03.018.51L					
		Ex 64.03.018.59F 64.03.018.61H					
		64.03.018.69C Ex 64.03.019.51G					
		Ex 64.03.019.59B 64.03.019.61D 64.03.019.69K					
		Ex 64.04.018.41G Ex 64.04.018.49B					
		Ex 64.04.018.61A Ex 64.04.018.69G					
		Ex 64.04.019.41C Ex 64.04.019.49J Ex 64.04.019.61H					
1764	Ex 64.010	Ex 64.04.019.69C Ex 64.02.023.02B to	Other footwear of Tariff Chapter 64, viz: Wom-	7,000	28 ×	250	3
		Ex 64.02.023.09K Ex 64.02.023.22G	en's and girls' footwear exceeding size 1½ (excluding gumboots, thongs, and goods of				
		Ex 64.02.023.23E 64.02.023.32D to 64.02.023.49J	Item Code 64.000) having leather or composition leather uppers				
		Ex 64.02.029.02L to Ex 64.02.029.09H					
		Ex 64.02.029.22E Ex 64.02.029.23C 64.02.029.32B to					
		64.02.029.49G Ex 64.03.018.12K					
		Ex 64.03.018.18J 64.03.018.31F 64.03.018.39A					
		Ex 64.03.019.12F Ex 64.03.019.18E					
		64.03.019.31B 64.03.019.39H Ex 64.04.018.02F					
		Ex 64.04.018.08E Ex 64.04.018.31K					
		Ex 64.04.018.39E Ex 64.04.019.02B					
		Ex 64.04.019.08A Ex 64.04.019.31F Ex 64.04.019.39A					
1765	Ex 64.010	Ex 64.02.023.02B to Ex 64.02.023.09K	Other footwear of Tariff Chapter 64, viz: Women's and girls' footwear exceeding size 11/2	23,000	23 ×	1,000	2
•		Ex 64.02.023.22G Ex 64.02.023.23E 64.02.023.32D to	(excluding gumboots, thongs, and goods of Item Code 64.000) having leather or compo- sition leather uppers				
		64.02.023.49J Ex 64.02.029.02L to	onen realist appear				
		Ex 64.02.029.09H Ex 64.02.029.22E Ex 64.02.029.23C					
		64.02.029.32B to 64.02.029.49G					
		Ex 64.03.018.12K Ex 64.03.018.18J 64.03.018.31F					
		64.03.018.39A Ex 64.03.019.12F					
		Ex 64.03.019.18E 64.03.019.31B					
		64.03.019.39H Ex 64.04.018.02F Ex 64.04.018.08E					
		Ex 64.04.018.31K Ex 64.04.018.39E					
		Ex 64.04.019.02B Ex 64.04.019.08A Ex 64.04.019.31F					
1766	Ex 64.010	Ex 64.04.019.39A Ex 64.01.037.12G	Other footwear of Tariff Chapter 64, viz: Wom-	8,600	43 ×	200	4
		Ex 64.01.037.18F 64.01.037.41L 64.01.037.49F	en's and girls' footwear exceeding size 1½ (excluding gumboots, thongs, and goods of				•
		64.01.037.49F Ex 64.01.039.12K Ex 64.01.039.18J	Item Code 64.000) having non-leather uppers				
		64.01.039.41C 64.01.039.49J					

Tender No.	r Item Code	Tariff Items	Goods: Brief Description	Footwear 2nd Allocation (Pairs)	No. of Units	Licence Unit Size (Pairs)	No. of Units a Tenderer May Bid For
		Ex 64.02.021.02K to Ex 64.02.021.19D Ex 64.02.021.31C					
		Ex 64.02.021.39J Ex 64.02.022.02F to Ex 64.02.022.19L					
		Ex 64.02.022.31K Ex 64.02.022.39E Ex 64.02.023.51L to					
		Ex 64.02.023.59F Ex 64.02.023.71E Ex 64.02.023.73A					
		64.02.023.81B to 64.02.023.99E Ex 64.02.029.51J to					
		Ex 64.02.029.59D Ex 64.02.029.71C Ex 64.02.029.73K					
		64.02.029.81L to 64.02.029.99C Ex 63.03.018.51L Ex 64.03.018.59F					
		64.03.018.71E 64.03.018.79L Ex 64.03.019.51G					
		Ex 64.03.019.59B 64.03.019.71A 64.03.019.79E					
		Ex 64.04.018.41G Ex 64.04.018.49B Ex 64.04.018.71J					
		Ex 64.04.018.79D Ex 64.04.019.41C Ex 64.04.019.49J					
1767	Ex 64.010	Ex 64.04.019.71E Ex 64.04.019.79L Ex 64.01.037.12G Ex 64.01.037.18F 64.01.037.41L	Other footwear of Tariff Chapter 64, viz: Women's and girls' footwear exceeding size 1½ (excluding gumboots, thongs, and goods of	37,000	37 ×	1,000	4
		64.01.037.49F Ex 64.01.039.12K Ex 64.01.039.18J	Item Code 64.000) having non-leather uppers				
		64.01.039.41C 64.01.039.49J Ex 64.02.021.02K to Ex 64.02.021.19D					
		Ex 64.02.021.19D Ex 64.02.021.31C Ex 64.02.021.39J Ex 64.02.022.02F to					
		Ex 64.02.022.19L 64.02.022.31K 64.02.022.39E					
		Ex 64.02.023.51L to Ex 64.02.023.59F Ex 64.02.023.71E					
		Ex 64.02.023.73A 64.02.023.81B to 64.02.023.99E					
		Ex 64.02.029.51J to Ex 64.02.029.59D Ex 64.02.029.71C Ex 64.02.029.73K					
		64.02.029.81L to 64.02.029.99C Ex 64.03.018.51L					
		Ex 64.03.018.59F 64.03.018.71E 64.03.018.79L					
		Ex 64.03.019.51G Ex 64.03.019.59B 64.03.019.71A					
		64.03.019.79E Ex 64.04.018.41G Ex 64.04.018.49B Ex 64.04.018.71J					
		Ex 64.04.018.79D Ex 64.04.019.41C Ex 64.04.019.49J					
1768	Ex 64.005	Ex 64.04.019.71E Ex 64.04.019.79L 64.01.031.07B	Other footwear of Tariff Chapter 64, viz: Thongs	3,600	18 ×	200	2
	Ex 64.010	64.01.032.07J 64.01.037.02K 64.01.037.08J	of any material exceeding children's size $9\frac{1}{2}$				
		64.01.039.02B 64.01.039.08A					

			·			licance No. of
Tender No.	Item Code	Tariff Items	Goods: Brief Description	Footwear 2nd Allocation (Pairs)	No. of Units	Licence Units Tenderer Size May Bid (Pairs) For
		Ex 64.02.011.09A Ex 64.02.012.09H				101
		64.02.018.29L 64.02.018.79G				
		64.02.019.29G 64.02.019.79C				•
		Ex 64.02.021.21F to Ex 64.02.021.39J				
		Ex 64.02.022.21B to Ex 64.02.022.39E				
		64.02.023.12K 64.02.023.15D				
		64.02.023.61H 64.02.023.65L 64.02.029.12H				
·		64.02.029.15B 64.02.029.61F				
		64.02.029.65J 64.03.011.09E				
		64.03.011.29K 64.03.012.09A				
		64.03.012.29F 64.03.018.02B				
		64.03.018.08A 64.03.018.41C 64.03.018.49J				
		64.03.019.02J 64.03.019.08H				
		64.03.019.41K 64.03.019.49E				
		Ex 64.04.011.18H Ex 64.04.011.39L				
		Ex 64.04.012.18D Ex 64.04.012.39G				
		Ex 64.04.018.21B to Ex 64.018.39E Ex 64.04.018.61A to				
		Ex 64.04.018.79D Ex 64.04.019,21J to				
		Ex 64.04.019.39A Ex 64.04.019.61H to				
1769	Ex 64.005	Ex 64.04.019.79L 64.01.031.07B	Other footwear of Tariff Chapter 64, viz: Thong	ıs 9,000	18 ×	500 2
	Ex 64.010	64.01.032.07J 64.01.037.02K	of any material exceeding children's size 9%	2		
		64.01.037.08J 64.01.039.02B 64.01.039.08A				
		Ex 64.02.011.09A Ex 64.02.012.09H				
		64.02.018.29L 64.02.018.79G				
		64.02.019.29G 64.02.019.79C				
		Ex 64.02.021.21F to Ex 64.02.021.39J				
		Ex 64.02.022.21B to Ex 64.02.022.39E 64.02.023.12K				
		64.02.023.15D 64.02.023.61H				
		64.02.023.65L 64.02.029.12H				
		64.02.029.15 <b>B</b> 64.02.029.61 <b>F</b>				
		64.02.029.65J 64.03.011.09E				
		64.03.011.29K 64.03.012.09A 64.03.012.29F				
		64.03.018.02B 64.03.018.08A		•		
		64.03.018.41C 64.03.018.49J				and the second
		64.03.019.02J 64.03.019.08H				
	•	64.03.019.41K 64.03.019.49E				
		Ex 64.04.011.18H Ex 64.04.011.39L Ex 64.04.012.18D				
		Ex 64.04.012.18D Ex 64.04.012.39G Ex 64.04.018.21B to				
		Ex 64.04.018.39E Ex 64.04.018.61A to				
		Ex 64.04.018.79D				

Tender No.	Item Code	Tariff Items	Goods: Brief Description	Footwear 2nd Allocation (Pairs)	No. of Units	Licence Unit Size (Pairs)	No. of Units a Tenderer May Bid For	
		Ex 64.04.019.21J to Ex 64.04.019.39A Ex 64.04.019.61H to Ex 64.04.019.79L						
1770	Ex 64.005 Ex 64.010	64.01.001 to 64.01.019	Other footwear of Tariff Chapter 64, viz: C boots all sizes	Gum- 2,	000 10	× 2	200	1
1771	Ex 64.005 Ex 64.010	64.01.001 to 64.01.019	Other footwear of Tariff Chapter 64, viz: C boots all sizes	3um- 5,	500 11	× 5	500	1

#### GENERAL CONSUMER GOODS

(\*denotes partial Global Licence on Demand—refer to p. 228 Import Licence Schedule 1984) (†For goods exempt from Australia—refer to p. 198 Import Licence Schedule)

Tender No.	Item Code	Tariff Items	Goods: Brief Description	Allocation \$	No. of Units	Licence Unit Size \$	No. of Units a Tenderer May Bid For
1772	03.005†		Fish livers; fish dried, salted or in brine; smoked fish, whether or not cooked before or during	20,000	10 >	2,000	2
1773	Ex 07.005	07.01.001 07.01.011 07.01.051	the smoking process Vegetables, fresh or chilled (other than capers, olives, onions, and mushrooms);	10,000	10 >	< 1,000	2
	†	07.01.059 07.04.002 07.04.005 to 07.04.009	Dried, dehydrated or evaporated vegetables, etc. (other than herbs);				
1774	08.005	07.05.031	Other peas Stone fruit, fresh; passionfruit, fresh; fruit pro- visionally preserved, etc.; peel of melons and		6	4,000	2
1775	09.005		citrus fruit, etc.  Roasted coffee; coffee substitutes containing cof-		4 >	< 1,000	2
1776	09.010†		fee; tea in packages of less than 2 kg net weight Unground spices in retail packages (other than turmeric) ground spices, however packed finely discount turmerics, current powder.	17,000	17	× 1,000	2
1777	15.005		(including turmeric); curry powder Oleo cil, not emulsified, etc.; wool greases (other than crude) and fatty substances derived therefrom (including lanolin); coconut (copra) oil; glycerol; margarine, imitation lard and other prepared edible fats		32	× 4,000	2
1778	16.005*†		Fish preserved in airtight containers, etc., viz: herrings, pilchards and other (excluding salmon, sardines, sild, brisling and saury)		47 >	× 5,000	3
1779	16.010†		Pastes of prepared or preserved fish, crustaceans or muliuscs	16,000	16	< 1,000	2
1780	16.015		Sausages and the like, of meat, meat offal or animal blood; other prepared or preserved meat or meat offal (other than pates de foie gras and turkey prepared or preserved); meat		26	× 4,000	2
1781	17.010†		extracts and meat juices Other sugars, sugar confectionery and sugar	126,000	63	× 2,000	2
1782	18.005		preparations of Tariff Chapter 17 Cocoa paste, etc., whether or not defatted; cocoa powder, unsweetened; chocolate and other food preparations containing cocoa (except		31	× 2,000	2
1783	19.005		those of other Tariff Headings) Malt extract; preparations of flour, meal, starch or malt extract, of a kind used as infant food or for dietetic or culinary purposes, contain- ing less than 50 percent by weight of cocoa (other than exempt goods); prepared foods obtained by swelling or roasting of cereals or cereal products; other goods of Tariff Heading Nos. 19.07 and 19.08		18	< 5,000	2
1784 1785	19.010 20.005†		Macaroni, spaghetti, and similar products Vegetables and fruit prepared or preserved by vinegar or acetic acid; vegetables, prepared or preserved otherwise than by vinegar or acetic		32 × 47 ×	× 2,000 × 2,000	2 3
1786	20.010		acid Fruit preserved by freezing etc.; fruit, fruit peel, etc., preserved by sugar, jams, fruit jellies, etc.; stems and other parts of plants, except fruit, preserved in syrup		52	× 3,000	2
1787 1788	20.020 20.030		Nuts whether or not roasted Vegetable and fruit juices not in bulk containers	18,000 46,000		× 2,000 × 2,000	1 2
1789	21.005†		whether or not sweetened Extracts of coffee, etc.; roasted coffee substitutes etc.; soy; saccharin and other synthetic swee- tening substances in tablet or in other dispen- sible forms		18	× 2,000	2
1790	21.010		Other food preparations of Tariff Chapter 21 not elsewhere included	240,000	60	× <b>4</b> ,000	1

Tender No.	Item Code	Tariff Items	Goods: Brief Description	Allocation \$	No. of Units	Licence Unit Size \$	No. of Units a Tenderer May Bid
1791	22.008		Waters, etc.; ice and snow; lemonade, etc., and aerated waters and other non-alcoholic beverages (not including fruit and vegetable juices	200,000	20 ×	10,000	For 2
1792	22.024		of Heading No. 20.07) Other fermented beverages; cordials and liqueurs; other spirits and spirituous beverages in containers of a capacity of less than 180 litres; other spirits and spirituous mixtures containing not more than 23 percent vol.; other spirits and spirituous mixtures contain-	330,000	66 ×	5,000	3
1793	22.026†		ing more the 23 percent vol., in containers of a capacity of less than 180 litres Rum, brandy or whisky, in containers of a capacity of less than 180 litres, having f.o.b.	12,000	6 ×	2,000	.1
1794 1795	22.028 24.003		value of less than \$5.00 per litre Gin, geneva, schnapps, and vodka Cigars and cheroots, etc. "33½ percent of this lic- ence is available only for the importation of cigars having a minimum gross weight includ- ing bands, cellophane and wrapping of 680	20,000 70,000	10 × 14 ×	2,000 5,000	4 2
1796	33.005†		grams per 100 cigars. Oil of hops; culinary or flavouring spirituous solutions and other spirituous solutions of Tariff Heading No. 33.04; other goods of Tariff Heading 33.04 (other than exempt goods); perfumery, cosmetics and toilet preparations including hair dyes; aqueous distillates and	200,000	40 ×	5,000	2
1797	34.010		aqueous solutions of essential oils, etc. Soap, including medicated soap (powder, flakes, granules, tablets, etc.); polishes and creams for footwear, furniture or floors, etc.; candles,	50,000	10 ×	5,000	2
1798	36.005		tapers, night lights, etc. Other pyrotechnic articles (other than exempt	20,000	20 ×	1,000	4
1799	38.005		goods) The following when put up for retail sale, viz: disinfectants; insecticides; fungicides; herbicides; growth promoting, and growth regulating preparations; anti-sprouting products or	50,000	20 ×	2,500	2
1800	39.122		preparations; other products and preparations Wallcoverings, being a plastic film and paper laminate, in rolls and suitable for the deco-	18,000	9 ×	2,000	1
1801	39.235†		ration of walls or ceilings Tapes, being of a thickness not exceeding 0.5 mm and of a width not exceeding 20 cm, selfad- hesive (excluding the goods specified in Item Codes 39.120, 39.130, 39.220, 39.230, 39.240, 39.245, and 39.247 and exempt goods)	36,000	12 ×	3,000	2
1802	39.290		Tableware, kitchen and household utensils of plastic (excluding exempt goods)	21,000	7 ×	3,000	2
1803 1804	39.325* 40.042		All other plastic articles (excluding exempt goods) Hot water bottles	130,000 14,000	26 × 7 ×	5,000 2,000	2
1805 1806	40.047 40.050		Teats Gloves, for all purposes, of unhardened vulcan-	6,000 12,000	6 × 6 ×	1,000 2,000	1 2
1807 1808	42.005 42.010		ised rubber Saddlery and harness of any material, etc. Spectacle cases; travel goods, etc., other than	65,000 68,000	13 × 17 ×	5,000 4,000	3 2
1809	42.015	•	exempt goods Articles of apparel and clothing accessories, other	12,000	4 ×	3,000	1
1810	42.030		than exempt goods Ski, motorcycle and work gloves, mittens, and	15,000	6 ×	2,500	2
1811	44.040†		mitts Other articles of wood of Chapter 44	112,000	28 ×	4,000	2
1812 1813	45.005 46.005		"Not available for imitation Maori artifacts" Table mats; other articles of agglomerated cork Picnic sets; basketwork, wickerwork, etc., and other articles of plaiting materials, etc., except floor coverings; articles made up from goods	20,000 64,000	10 × 16 ×	2,000 4,000	2 2
1814	48.075†		falling within Tariff Heading 46.02 Cigarette paper, cut to size, etc., viz. other; writing blocks, envelopes of paper, letter- cards, etc.; other paper and paperboard, cut to size or shape; bobbins, spools, cops and	170,000	34 ×	5,000	2
1815	48.080		similar supports of paper pulp, etc. Wallpaper "Not available for rolls larger in area than 10.4"	15,000 rolls	10 ×	1,500 rolls	1
1816 1817	48.084 48.094†		square metres" Registers, exercise books, notebooks, etc. Other articles of paper pulp, paper, paperboard or cellulose wadding	21,000 64,000	7 × 16 ×	3,000 4,000	2 2
1818 1819	49.009 49.010		Transfers (decalcomanias) Other printed matter of Tariff Chapter 49 (other than exempt goods)	10,000 190,000	10 × 38 ×	1,000 5,000	2 4
1820	53.015		Handknitting yarns of sheep's or lamb's wool, or of other animal hair whether or not put up for retail sale	42,000	12 ×	3,500	3

Tender No.	Item Code	Tariff Items	Goods: Brief Description	Allocation	No. of Units	Licence Unit Size \$	No. of Units a Tenderer May Bid For
1821	53.025		Yarn of sheep's or lambs' wool (other than exempt mending and tapestry yarns and handknitting yarns of Item Code 53.015) put		11 ×	2,000	3
1822	56.145†		up for retail sale Handknitting yarns of man-made fibres (discon- tinuous waste) whether or not put up for retail		8 ×	1,500	2
1823	58.120†		sale (other than exempt yarns) Carpets, carpeting and rugs knotted; other carpets, carpeting and rugs (other than knotted), mats and matting, etc., of wool, and other kinds (other than coir mats and bath mats of		19 ×	10,000	3
1824	59.105		terry towelling and the like) Sanitary towels (but not including tampons); other articles of wadding (other than surgical applicators tipped with wadding 15 cm or		8 ×	6,000	3
1825	59.106†		more in length) Other articles made from yarn, twine, cordage,	10,000	5 ×	2,000	1
1826	59.130		rope, or cables (other than textile fabrics, etc.) Other kinds of twine, cordage, ropes, cables, etc. (other than exempt goods)		5 ×	2,000	1
1827 1828	60.040 60.060		Men's and boys' hosiery Under garments, knitted or crocheted, not elas-	32,000 19,000	10 × 10 ×		2 2
1829	60.080		tic or rubberised, viz: Women's, girls' and infants': Pantyhose (tights)  Outer garmets, knitted or crocheted, not elastic or rubberised, men's and boys': jerseys, pullovers, slipovers, twinsets, cardigans, bedjack-	20,000	10 ×	2,000	2
1830	60.110	i .	ets and jumpers Outer garments, knitted or crocheted, not elastic or rubberised, women's, girls' and infants': jerseys, pullovers, slipovers, twinsets, cardi- gans, bedjackets and jumpers (other than	93,000	10 ×	9,300	. 2
1831 1832	G 712 G 713		exempt infants' garments) Men's and boys' outer garments: coats Men's and boys' outer garments: jackets, blazers and the like	32,000 33,000	10 × 10 ×		2 2
1833 1834	G 714 G 721		Men's and boys' outer garments: suits Women's and girls' and infants' outer garments: coats, jackets, blazers and the like (other than		10 × 10 ×		2 2
1835	G 723		exempt infants' garments) Outer garments, knitted or crocheted, not elastic or rubberised, women's and girls' and infants': suits and costumes (other than exempt infants'		4 ×	4,000	2
1836	G 724		garments) Outer garments, knitted or crocheted, not elastic or rubberised, women's, girls' and infants':	ŕ	10 ×	3,900	2
1837	G 725		dresses (other than exempt infants' garments) Women's, girls' and infants' outer garments:		5 ×	2,600	2
1838	G 726		skirts (other than exempt infants' garments) Women's, girls' and infants' outer garments:	17,000	10 ×	1,700	2
1839	G 728		blouses (other than exempt infants' garments) Outer garments, knitted or crocheted, not elastic or rubberised, women's, girls' and infants': other women's, girls' and infants' outer gar-	24,000	10 ×	2,400	2
1840	G 751		ments (other than exempt infants' garments) Shawls, scarves, mufflers, mantillas, veils and the like (other than exempt goods)	•	10 ×		2
1841 1842 1843	61.098 62.003 62.007		Handkerchiefs Travelling rugs and blankets Table linen, toilet and kitchen linen, other than	42,000 36,000 36,000	20 × 12 × 12 ×	3,000	4 2 2
1844	62.009		plain Bed linen, other than plain; curtains and other	36,000	12 ×	3,000	2
1845	62.030		furnishing articles, other than plain bedspreads Sanitary towels; other made up textile articles including dress patterns (other than exempt		14 ×	2,000	3
1846	68.025*†		goods) Articles of plastering material; articles of cement, etc.; articles of stone and of other mineral substances etc. (other than goods of Item Code	5,000	5 ×	1,000	2
1847	69.025		68.035 and exempt goods)  Pots, jars, etc. and troughs, tubs, and similar receptacles, etc., of ceramic materials; filter	5,000	5 ×	1,000	2 🤈
1848	69.015		elements of ceramic material Setts, flags and paving, hearth and wall tiles	65,000	26 ×	2,500	2
1849	69.030		(other than exempt goods) Sinks, wash-basins, bidets, etc., of ceramic	90,000	10 ×	9,000	1
1850	69.035		materials  Cooking utensils and tableware of porcelain or china or other kinds of pottery (other than	320,000	32 ×	10,000	1
1851	69.040		exempt goods)  Articles of a kind commonly used for toilet purposes; mixing bowls and pudding basins; bedside and table lamps; articles of personal	290,000	29 ×	10,000	ì
1852	70.025		adornment, etc. Drinking glasses (excluding exempt crystal glasses)	200,000	20 ×	10,000	2

Tender No.	Item Code	Tariff Items	Goods: Brief Description	Allocation	No. o. Units	f	Licence Unit Size \$	No. of Units a Tenderer May Bid For
1853	71.025		Other jewellery and goldsmiths' and silver- smiths' wares (excluding goods of Item Code 71.020 and exempt goods)	127,500	17	×	7,500	2
1854 1855	71.030† 73.065		Imitation jewellery  Anchors and grapnels and parts thereof; fittings	180,000 55,000	30 11	×	6,000 5,000	2 2
1856	Ex 73.080	73.36.009.21D 73.36.009.51F	for ships, boats and other vessels Cooking stoves and ranges for burning solid fuel	50,000	5	×	10,000	2
1857	73.084*	73.30.009.311	Other stoves, space heaters for burning solid fuel Iron and steel articles of a kind commonly used for domestic purposes and other goods of Tar-	160,000	16	×	10,000	1
			iff Heading 73.38 except baths (Item Code 73.082), vitreous enamelled sanitary ware (other than bathroom fittings), capacity meas-					
1858	74.030*		ures and vitreous enamelled holloware Cooking and heating apparatus of a kind used for domestic purposes, not electrically oper-	90,000	9	×	10,000	1
			ated, and parts thereof, of copper, other articles of a kind commonly used for domestic pur- poses, sanitary ware for indoor use, and parts of such articles and ware, of copper					
1859	76.030*†		Articles of a kind commonly used for domestic purposes, sanitary ware for indoor use, and parts of such articles and ware; fittings for ships, boats and other vessels; nose rings for	120,000	12	×	10,000	1
1860	82.005*†		animals; clips, tags, rings and the like for the indentification of animals, birds or fish Shovels; hoses and rakes; cultivators; tubular frame firewood or pulpwood saws and blades therefor; blades for butchers' hand saws; screwdrivers, as may be determined by the Minister; wire strainers; grease guns, etc., as	110,000	22	×	5,000	2
1861	82.015		per Schedule Kitchen knives and blades therefor having blade	95,000	19	×	5,000	2
1862	83.020		Statuettes and ornaments, etc., and other goods	54,000	6	×	9,000	1
1863	83.030†		of Tariff Heading No. 83.06  Lamp and light fittings of base metal and parts thereof of base metal (excluding switches, etc.),	120,000	12	×	10,000	1
1864	83.040		other than exempt lamps and lanterns Bells and gongs, non-electric of base metal, and parts thereof of base metal (other than for	12,000	8	×	1,500	1
1865	84.590		cycles)  Domestic refrigerators and deep freezers, including parts thereof (other than exempt	33,000	3	×	11,000	1
1866	84.780		goods) Washing machines, drying machines, dry-cleaning machines and clothes pressing machines, etc.	22,000	2	×	11,000	1
1867 1868	85.012 Ex 85.018	85.06.001.11B Ex 85.06.009.61K	Primary cells and primary batteries Foodmixers, processors, and blenders	42,000 150,000	_	×	2,000 25,000	3 1
1869	Ex 85.018	85.06.009.09A 85.06.009.12A	Vacuum cleaners and polishers	45,000	3	×	15,000	ì
1870		85.06.009.22J Ex 85.06.009.61K	Exhaust and room fans-domestic	30,000	6	×	5,000	1
1871 1872 1873 1874 1875 1876 1877	Ex 85.018 Ex 85.033 Ex 85.033 Ex 85.033 Ex 85.033 Ex 85.033 Ex 85.045	85.06.009.41E 85.12.019.01E 85.12.019.11B 85.12.019.21K 85.12.019.31G 85.12.011.05G 85.14.022.01C 85.14.022.01J	Vented hoods Storage water heaters and immersion heaters; Electric space heating apparatus; Hair dressing appliances Electric smoothing irons; Stoves and ranges (domestic types only) Audio-frequency electric amplifiers, other; Parts; sound amplifier sets comprising com-	15,000 40,000 22,500 50,000 25,000 40,000 21,000	10 3 20	× × ×	5,000 4,000 7,500 2,500 12,500 20,000 7,000	1 1 1 1 1
1878	87.070	85.14.039.01C	binations of goods of Tariff Heading 85.14 Racing cycles with wheel diameter not less than	30,000	6	×	5,000	2
1879	87.073		685.8 mm Bicycles and other cycles, other than racing cycles	45,000	9	X	5,000	2
1880 1881	90.005 90.015		of Item Code 87.070 Ophthalmic contact lenses Spectacles, pince-nez, lorgnettes, goggles, and the like, corrective, protective or other	18,000 95,000	6 19		3,000 5,000	1 2
1882 1883 1884 1885	Ex 92.010 Ex 92.010 Ex 92.015 93.005	92.11.018.09E 92.11.018.58C Ex 92.12.019.19B	Electric Record-players other than coin-operated Taperecorder—reproducers Audio cassette tapes Underwater spear guns; cartridges: .22 calibre	30,000 90,000 100,000 10,000	2 6 20 5	× × ×	15,000 15,000 5,000 2,000	1 1 1 2
			blank rimfire cartridges for use with power tools; shot 12 bore; ball, .22 calibre rimfire, having a F.O.B. value of less than \$20 (N.Z.) per 1000 rounds "Not available for the importation of rubber					
1886	94.005		powered spear guns" Chairs and other seats (other than those falling within Tariff Heading 94.02), etc.; other furniture and parts thereof excluding goods of	132,000	22	×	6,000	2
1887	94.016		Item Code 94.016 Other furniture and parts thereof of metal	18,000	9	×	2,000	2

Tender No.	Item Code	Tariff Items	Goods: Brief Description	Allocation	No. of Units	Licence Unit Size	No. of Units a Tenderer May Bid For
1888 1889	94.020 96.010		Mattress supports; articles of bedding, etc. Tooth, denture and nail brushes; hairbrushes; toilet brush sets; broom and brushes consist- ing of twigs, etc., with or without handles; paint brushes, paint rollers; powder-puffs and pads, etc.; hand sieves and hand riddles, wholly or principally of wire, other than exempt goods	18,000 44,000	9 × 11 ×		2 2
1890	96.015		Prepared knots and tufts for broom or brush making; brooms and brushes other kinds	28,000	14 ×	2,000	3
1891	97.005		Wheeled toys designed to be ridden by children, etc.	10,000	5 ×	2,000	2
1892	97.014		Dolls; skipping ropes, balls, hoops; other toys and working models of a kind used for recreational purposes; playing cards comprising any of the cards of a conventional suit; sets comprising slot-racing motorcars with track layouts; other equipment for parlour, table and funfair games, other than goods of Item Code 97.030; carnival articles; entertainment articles, etc.	921,000	307 ×	3,000	3
1893	97.025		Billiard tables; billiard cues; other table tennis requisites, excluding balls; dartboards, darts and dart flights, other than feathered dart flights; indoor croquet and skittle requisites	48,000	8 ×	6,000	2
1894	97.045		Tennis, badminton and squash racquets, containing wood, the f.o.b. value of which exceeds \$6.00 (N.Z.)	32,000	16 ×	2,000	3
1895	97.050*†		Appliances, apparatus, accessories and requisites for gymnastics or athletics; tennis, badminton and squash racquets not containing wood, the f.o.b. value of which exceeds \$6.00	230,000	23 ×	10,000	1
			(N.Z.); clay birds and clay targets; bows, arrows and targets for archery; roller skates; ice skates: fitted with boots; other kinds of goods for sports and outdoor games, excluding exempt				
1896	97.055	†	goods Basketballs, footballs and similar inflatable balls excluding those balls of Item Code 97.054;	28,000	14 ×	2,000	2
1897	97.075		water polo balls; bladders for inflatable balls Fish hooks, mounted with attachments; line fishing rods except those of man-made fibres agglomerated with plastic material and fishing tackle other than reels; fish landing nets and butterfly nets; lark mirrors and similar hunt-	80,000	16 ×	5,000	2
1898	98.040		ing or shooting requisites  Combs, hair-slides and the like; automata and other animated displays, etc.	26,000	26 ×	1,000	3
1899	G 401		Curry powder Preparations of flour, meal, starch, or malt	27,000	9 ×	3,000	2
1900	G 406		extract, of a kind used as infant food, etc.  Articles of a kind used in machinery, etc., of unhardened vulcanised rubber, etc.	170,000	17 ×	10,000	3
1901	G 409		Billiards metres Skipping ropes; balls, etc.	90,000	18 ×	5,000	2
1902 1903	G 412 Ex 85.006	85.01.031.09J	Cigarette, cigar, etc., cases, etc.	380,000		10,000	2
		85.01.031.19F	Transformers having a rated output not exceeding 240 volts and parts thereof, excluding coil cans and exempt goods	155,000	10 ·×	15,500	2
1904	Ex 85.042	85.14.019.08K 85.14.019.19E Ex 85.14.019.11K	Loudspeakers other than as may be approved by the Minister and exempt goods	400,000	20 ×	20,000	2
1905	85.045	2.4 03.14.013.1114	Audio-frequency electric amplifiers, sound amplifier sets comprising combinations of goods of Tariff Heading 85.14 (other than goods of Item Code 85.042)	126,000	12 ×	10,500	1
1906	Ex 85.048	85.15.101.01D Ex 85.15.101.14F 85.15.101.19G 85.15.101.29D	Radio broadcast receivers, whether or not combined with sound recorders or reproducers other than exempt goods	920,000	50 ×	18,400	. 1
1907	Ex 85.048	85.15.201	Television broadcast receivers, whether or not combined with radio broadcast receivers or with sound recorders or reproducers (NOTE: Successful tenderers under number 1907 will be asked to make a statutory declaration stating which screen size of televisions licence is to be used for when the invoice is paid.)	1,400,000	28 ×	50,000	2,
1908	Ex 85.048	85.15.111 85.15.121 85.15.129 85.15.211 85.15.221	Parts of radio broadcast receivers and television broadcast receivers	50,000	5 ×	10,000	i
1909	85.051	85.15.229	All other goods of Tariff Heading 85.15 not included in Item Codes 85.000 or 85.048	240,000	12 ×	20,000	2

Tender No.	Item Code	Tariff Items	Goods: Brief Description	Allocation \$	No. of Units	Licence Unit Size \$	No. of Units a Tenderer May Bid For
1910	85.054	, .	Electric traffic control equipment and electric sound or visual signalling apparatus, other than those of heading Nos. 85.09 or 85.16	100,000	10 ×	10,000	2
1911 1912 1913	85.060 85.063 85.072		Printed Circuits Switchboards and control panels Electrical appliances and apparatus having individual functions not falling within any other heading of Chapter 85 (excluding exempt goods)	230,000 360,000 170,000	15 ×	23,000 24,000 10,000	2 2 2
1914	90.050		Electrical measuring, checking, analysing or automatically controlling instruments and apparatus as may be determined by the Minister. Licences will be endorsed: "Not available for electronic taxi meters or electronic digital counter timers for the purpose of industrial batch counting, length measurement, and controlling"		7 ×	10,000	t .
1915 1916	91.005 Ex 92.010	92.11.018.01K 92.11.018.09E 92.11.018.58C 92.11.018.69J	Clocks incorporating radio receivers Electric record players and tape recorders-reproducers other than exempt goods	20,000 210,000	4 × 21 ×	5,000 10,000	1
1917	Ex 92.010	92.11.008	Dictating machines and reproducers ancillary thereto, other than as may be approved by the Minister	1,300	1 ×	1,300	1
1918	92.020		Cabinets and other parts and accessories of apparatus falling within Tariff Heading 92.11 (excluding exempt goods)	100,000	10 ×	10,000	1
			RACQUETS RATIONALISATION PLAN: 2ND ALLOCATION	)N			
Tender No.	Item Code	Tariff Items	Goods: Brief Description	2nd Allocation	No. of Units	Licence Unit Size \$	No. of Units a Tenderer May Bid For
1919	97.045		Tennis, badminton and squash racquets, containing wood, the f.o.b. value of which exceeds \$6.00 (N.Z.)		81 ×	100 racquets	3
			PLASTICS INDUSTRY DEVELOPMENT PLAN: HP SHEE	T			
This is	s the first of t	wo special annual allo	cations of licence for HP sheet under this plan.				
Tender No.	Item Code	Tariff Item	Goods: Brief Description	1st Allocation \$	No. of Units	Licence Unit Size \$	No. of Units a Tenderer May Bid For
1920	Ex 39.255	Ex 39.01.411	High pressure laminated reinforced sheet	380,000	50 ×	7,600	10